venly

T

K =k

W44

8x° — 41x> +68x— 36 =0

CH+4¢—5¢=0

4 + 52 —66x+ 45 =0

3

X —6x> —45x+ 162 =0

20 +x* —102x+ 144 =0

H #A:

o
=

X+ +14x—24=0

X —8lx=0

50 +39x% + 16x— 84 =0

8x° + 129x +457x— 504 =0

X —2¢ —24x=0
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vl B T

K =k

W44

8¢ — 41x> + 68x— 36 =0
9
83

x:

2,2

CH+4¢—5¢=0
x=-51,0

4 + 5 —66x+45=0

, 3,75

x:

X —6x> —45x+ 162 =0

x=3,9,-6

223+ —102x+ 144 =0

,—8,6

oW

x:

H #A:

X+ +14x—24=0

x=1,-6—4
X —8lx=0
x=-9,9,0

50+ 392+ 16x— 84 =0
6
=, -2,-7
5

x:

8> + 129x% + 457x — 504 = 0
7
Z,-9,-8
8

x:

X —2¢ —24x=0
x=6,—4,0
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